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cover the following key points:

rouping - Properties of Division
ivision as Sharing - Division (Without

ivision Using the Number Remainder)

ne - Division (With Remainder)

Learning Outcomes

By the end of this chapter, students will be able to:

Hi, I’'m EeeBee

Still curious?
Talk to me by
scanning
the QR code.

Understand division as grouping (e.g., dividing 12 applesinto 4 groups of 3 apples).
Understand division as sharing equally (e.g., sharing 10 candies between 5 friends).
Use anumber line to divide numbers (e.g., jump in equal steps to divide).

Learnthe properties of division (e.g., dividinga number by 1 gives the same number).
Divide numbers withoutaremainder (e.g., 12 +3=4).

Divide numbers with aremainder (e.g., 13+4 =3 with 1 left over).

Solve simple word problems that involve division with and without remainders.
Check division answers by multiplying the quotient by the divisor.
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Birds in Groups
How many birds are flying in the sky? Xy
Thereare 12 birdsin the sky. SR TR .

How many birds are there in each group? The Gk ~\Ghe

Theyarein 2 groups.

Thereare 6 birdsineach group.

Try it

Count and fill in the blanks.

1. CatsinGroups
Thereare..... cats.
Theyarein............. groups.

Thereare............. catsin each group.

2. BalloonsinGroups

Thereare............. balloons. ey W .
Theyarein............. groups. % %
Thereare............. balloonsin each group. K =

Division as Sharing >

When somethingis grouped or divided equally, it is called as equal sharing.
Let usshare ice-creams

3 children buy 6 ice-creams.

They want to share them equally.
Each child gets 2 ice-creams.

We say 6divided by 3isequalto 2.

We Write 6+3=2. Wat Reial
(£ ] isthe symbol of division.
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Let us share mangoes

Here are 10 mangoes.

We divided them in 2 groups. PN PN
Each group has 5 mangoes.

Wesay 10divided by 2isequalto5.
We write 10+2=5.

We can use a number strip for repeated subtraction or division. .
Divide12 by 2
Divide 12 in groups of 2on number line.

We count backward for division on the number line. Let us
divide 12 divided by 2 on a number line. &

@ Watc Re‘meial
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There are 6 jumps of 2.
We say 12 divided by 2 is equal to 6.

We write 4 = (6]
Try it
Use number lines given below and fill in the boxes.

a0 ] [

<ttt t—t—F— 1 +— 1 —1+—1>
O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

There are 3 jumps of 3.

1 »
[ -

We say 9 divided by 3 is equal to 3.
We write D + D = D
Math-2
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There are 5 jumps of 2.
Wessay 10divided by5isequalto 2.

We write C] + C] = C]

Properties of Division )3

1. Anynumberdivided by 1givesthe same number.

For example:

25+1=25; 97+1=97

108+1=108; 199+1=199
927+1=927; 999+ 1 =999

2. Anumberdivided by itselfis equalto 1.

For example:

19+19=1; 155+155=1
225+225=1; 495+495=1
875+875=1; 999+999=1

3. Odivided by any numberis zero. o> W

For example:

0+83=0; 0+256=0
0+199=0; 0+853=0
0+572=0; 0+997=0
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Exercise 6.1

1. Fillinthe boxes. One hasbeendone foryou.

(a) 2equalgroups

W wes

Mﬁaﬁm 3. O
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2. Fillinthe blanks.

1
e

U U 4

J

(@) 10 chocolates are divided into 5 equal groups. Each group has 2

chocolates.
We say 10 divided by 5isequalto 2.
Wewrite ... T = e

Math-2
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(b)

(c)

(d)

Y Y
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R /i
12 balls are divided in equal groups. Each group has 3 balls. There are
4 groups.

@GG ®®® @GG 6@@

We say 12 divided by 4 isequal to 3.

Wewrite ... T = ...

wa wa e

We say 12 divided by 3isequal to 4.

wewrite ... = = ...

8o &8s s &S

We say 20divided by 4isequalto5.

Wewrite ... + 2V ......

3. Dividethefollowing:

(a)

Share 30 apples among 5 children.

V000000006 ““
00066060606 “““

V00000 OOOO

Each child will get D apples. 30+5=

(b)

Each student will get D ice-creams.
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Distribute 12 ice-creams among 6 students.
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(c) Ateacher distributed 28 pencils equally among 7 children.

e N : N : s : N = Sy Yy
J777777777| |77\ 7007\ 7777
. ‘ 777 A\W 777 AW 777
77777777 | \J07)| 7007\ 7777
777777777 77
Each child will get pencils. 28 +7 =
4. Divide on the number line.
(@) *T—— 71T 71T T T T T T T T T T T T T 1~
o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
12 + 4 =
b)) «—7F—F—7—7—7—7TT T T T
o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
9 + 3 =
¢ <T— T T T T T T T T T T T T T T 71>
o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
15 + 5 = '
Division (Without Rzmainder)
Watcth.ndiaI
Division of a 2 — digit number by a 1 — digit number _
e 2 «— Quotient
Let us read about some terms used in division. Djvisor—» 8] 1 g « Divided
The number which is to be divided is called dividend. -16
The number that divides the dividend is called the divisor. 0 « Remainder

The result is called the quotient. If any leftover is a called the remainder.
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Example 1 : Divide 12 by 2. 6
Solution : 2]1 2
-12

Step1 : Write 12 + 2 as given. L £
Step 2 : Recall the multiplication table of 2. —
2x1=2; 2x2=4; 2%x3=6;
2x4=28; 2x5=10; 2x6=12;
Step 3 : Stop when you reach 12.
Step 4 : Write 6 below 12, and subtract. Then find quotient = 6.

Example 2 : Divide 14 by 7.

lution : 2
Solution — We read the multiplication
7) 14
12 table of 7, and get 7 x 2 = 14.

0 7x2=14 Thus, 14+ 7 = 2.

Exercise 6.2

1. Dothefollowingdivisions:

(a) (b) (c) (d)
7] 35 9] 36 7] 28 9] 45

(i) (i) (k) (1)




2. Fillinthe boxes.

@) 35 + 7 = [ | (b) 54 + 9 =
¢ 20 +5 = [ | d) 32 + 1 =
(e) 30
(g) 45

We have 22 lotus. T “i
P S P> > > > >
Let us try to put | W8 W e e s - ———— T
A P+ I TS Y]
themin4boxes |+ <= <= < < 2 T 3
equally. %%%%% _ > °‘b7’?7§!
-3 hahahd N eeeee
i . > qg ag (Remainder) Watch Remedial
2 lotus is left over.
22 + 4 =5 and 2 left over. We know that
5 4x5=20 and 4x6=24
4] 22 20< 22 and 24 > 22
-20 . 4 goes 5 times into 22.
2 > Subtract 20 from 22. 2 is remainder.

5 is called quotient
4 is called R 5 quotient

oo divisor) dividend

22 is called

2 is called -
dividend 2 % remainder remainder

D v X /



https://www.edubull.com/qr/qr-url?p=ABD8D967B73A
https://www.edubull.com/qr/qr-url?p=FD93C375B475

s & HL
Exercise 6.3

1. Divide and find the quotient and remainder. One has been done

foryou.
4
(a) (b) (c)
9; 37 7] 56 6’ 35
-36
1
Quotient=| 4 Quotient = Quotient =
Remainder=| 1 Remainder = Remainder =
(d) 8; 76 (e) 7) 45 () 8} 67
Quotient = Quotient = Quotient =
Remainder = Remainder = Remainder =
(8) 7) 46 (h) 9) 39 (i) 7) 36
Quotient = Quotient = Quotient =
Remainder = Remainder = Remainder =
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(1)

5;37

Quotient =

Remainder =

Tick (V') the correct option.

(a) 76 + 9gives:

() Q= 8 R
(i) Q= 8§ R
(i) Q = 4, R

(c) 42 =+ 8gives:

() Q= 5 R
(i) Q@ = 5 R
(i) Q = 5, R

(e) 27 + Sgives:

() Q= 5 R
(i) Q@ = 5 R
(i) Q = 4, R

(1)

7;51

Quotient =

Remainder =

Critical Thinking

(b) 17 + 2gives:

8 R =5
8, R =1
8 R =0

(d) 28 + 3gives:

9, R = 2
8, R =1
9, R =1

(f) 32 + 9gives:

Quotient =

Remainder =
2 (i) Q
4 (i) Q
8 LT (iii) Q
1 (i Q
2 (i) Q
0 (iii) Q
1 (i) Q
2 (i) Q
3 (iii) Q

3, R =5
3, R = 4
3, R = 3
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1. Tick(v')the correctanswer.

(a) 25+ 1=

(i) 25

(b) 0+83=

ERIOF!

(i) 83
() [ J+5=2
(i) 15
(d) 14+ |=7
(i) 7
2. Fillinthe blanks.

(a) 30+ |=3

(b) [ |+7=10

(c) 45+ ]=15

(d) 36+4= |

3. Matchthefollowing:

(a) 40+8

(b) 24+6

(c) 40+5

(d) 9+1

\ X

- o
i) 25
o) 2

% %
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(e) 45+ =45
(f) 123+123=
(g) [ ]+345=0

(h) 631+631= |

(i) 9
(II) 8 * Custom Learning Path
Scan to Create B ".'.:'
(iii) 5 Learing path || SEEHER
(iv) 4
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Solve and write number name.

Across. (—) 5

F
1. 8+2=
2. 21+3=
3. 7+7= :'5 "N
Down. () | 'z
4. 25+5= 0
5. +2=8
6. 27+3=
7. 56+ =0
L Mental Math> 5 \é;:zg Problem Solving
Word problems. One has been done for you. 5
(a) Ramesh bought 45 fishes. He put them into 9 bowls. 9T
How many fishes will be there in each bow!?(5 fishes | 0
(b) Umesh brought 72 roses for his 8 friends. If he gave T
equal number of roses to each friend, how many _
rosesdideachoneget?| | -
(c) Raju reads 49 pages of a book in 7 days. How many )
pages does hereadinoneday? :] —

106
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Solve to find the answer.

1. 64 rupees are equally divided among 8 friends. How much
rupees does each friend get? E—

Answer =X :]

2.  How many baskets will contain 81 apples, if each basket }
contains 9 apples? _

Answer = :] baskets
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